
3. Schulstufe – Wiederholung  ZE +/- ZE mit Überschreitung 

CK 

Rechentraining  
Rechnen bis 100 mit Zehnerüberschreitung  

 

 

Name: _________________________________________________ 

 

  

 

73 - 68 = 59 + 22 = 17+ 44=

97 - 88 = 91 - 24 = 65 - 39=

58 + 39 = 36 - 19 = 56+ 35=

16 + 65 = 21 - 14 = 26 - 17=

47 + 29 = 85 - 76 = 62 - 25=

27 + 35 = 94 - 88 = 82 - 47=

34 + 39 = 86 - 67 = 23+ 58=

95 - 17 = 93 - 36 = 74 - 25=

16 + 66 = 72 - 33 = 71 - 65=

97 - 68 = 62 - 37 = 43+ 29=

56 - 27 = 18 + 16 = 86 - 27=


